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(a) A block is specified in the C based language as a segment of code that begins with one or more data definitions and is enclosed in braces. The life time of the variable “temp” begins when the control enters into the block and ends when it block exists. The advantage of using such a local variable is that it can’t interfere with any other variable with the same name, that is declared else where in the program.
1. Blocks can be implemented by using the static chain process that can also be described for implementing nested subprograms. Blocks are implemented as parameter less subprogram that is always called from the same place in the program. So, every block has an activation record. An instance of its activation record is created every time the block is executed.
2. Blocks can also be implemented in more simpler and efficient way. The maximum amount of storage required for block variables at any time during the execution of the program can be statically determined, because blocks are entered and exited in strictly textual order. This amount of space can be allocated after the local variable in the activation record. Offsets for all block variables can be statically computed, so block variables can be addressed exactly as if they were local variables.
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	Activation record instance for main


Note that ‘f’ and ‘g’ occupy the same memory location as ‘a’ and ‘b’, because ‘a’ and ‘b’ are popped off the stack when their block is exited (before ‘f’ and ‘g’ are allocated).
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